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Time : Three hours

10.

11.

12.

SECTION A — (10 x 2 = 20 marks)
Answer any TEN questions.

Define Cost Accounting.

ILsa6llene samsslued cuamyuig.

What do you understand by profit centre?
@enru evwwid upd B Pleug wng ?

What is cost sheet?

SLsslme ANE®S ramnmed erener ?

State the meaning of Job Costing.

venfl g_saallenculiwed eraugen QUTHmeT Fomis.

What is maximum stock level?

o WS SleTe] Hlene erampmed ereimen ?

What is perpectual inventory system?

QBTLIT 876@ LiSley (pen GTEmDIEd eTahme ?
What are notional expenses?

yeouuLT QFwellarmbiseT eremmme ereme?
Expand EOQ.

EOQ eramuger aflfleundsid sms.

What do you understand by Labour Turnover?
Qamferart &pHd NS5 Felir wifleug wmg) ?
What is Over time?

sfafliiy Crrb erempred ereimear?

Define Overheads.

Cup&Qsweyser auanyum.

What is meant by Absorption of Overheads?

‘CupsQaway B L. eramugen GLImmeT wmg ?

Maximum : 75 marks
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13.

14.

15.

SECTION B — (5 x 5 = 25 marks)
Answer any FIVE questions

Discuss thetobjectives of cost accounting.
SILEs e sarsdwedar Crrsshiamen eleurdlssalb.

‘Ascertain the cost and selling price from the following:

" Material consumed Rs.6,000

Wages paid Rs. 9,000
Works on cost 50% on wages

Office on cost 20% on work cost

Selling on cost 10% on office cost

Profit 20% on cost.

G Qar@ssuu@erer efuphisallambg i ss6dme LpILd
alpuenar ellaneweniy sHarsd(H\s.

LwaTLRSSIULL epeli@urmer . 6,000

sl Qegisdwug . 9,000

vefl oiL&s50Fwe] gmelludler 50% @b

sigeuas Gupsbswalsdr Lianf SILE&5H0 20%
dpuear Cupslsmeser digeuws S_sssHd 10%
Qaorud SiLés efNeeulles 20% ag;,@fo.

Following data relates to materials ‘X, find Reorder Level,
M1n1mum Level and Max1mum Level.
Normal consumption 600 units per week

Minimum consumption 300 units per week

Maximum consumption 900 units per week

Re order quantify 4,800 units
Re order period 4 to 6 weeks.

X eremp  Gumgpeflen Gmfi@miw  elugrismar Qaren® wm
S jaTa Hlaww, GHehS @wﬁm Hlenev w;_r;gym o k& Sl6Ma
Blaveouflaner ser(Hidlig.&s.

Quiduner pisitey @k uMTSHDE 600 JGSHET
GO leTay BiIsTe) @O AWMSHHE 300 OGS

‘2 58 SaTey BISTE @ UMTSEHDEG 900 Sl @Gs6r

LD SLEET D66 4,800 OEGSHET

DM DEET STOLD 4—6 GUTTRISET.
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Cost of machine Rs. 13,500
Life of the machine 10 years
Estimated scrap value Rs.1,980
Working hours 1,800

Insurance (per annum) Rs.45

Cotton waste (per annum) Rs.75

Rent for department (per annum) Rs.975
Lighting for department (per annum) Rs. 360
Repair for entire Life Rs. 1,440

Foreman salary (per annum) Rs. 7,500
Power 10 units @ 0.75 paise per unit

This machine occupies 20% of the ‘area and the foreman devotes-

25% of his time to the machme The machine-has 2 light points
out of the total 12 for lighting in the department. Compute
Machine hour rate for the above data.

@u_lm;g‘,]r} eflene ¢em. 13,500

@u_i;r,ﬁg uenflsmeoid 10 QJ@I_LD

Grg‘ﬂrrurrrra;a;uul_l_ a;g@sq i - 1, 980

Ceuswra wemfser 1,800 B ’

sTenS@ "(.3;[,@@&;@) . 45

ugs sfa| Qewe| (aTHSS) 5. 75

FPDE®S uTLms (LaTO&ES) . 975

gleopsE Wer Gewa) (H@THEES) - 360

&TeLd @@mg}a;@mrrm uWwsl Bés Qewey . 1 440

* Gupunirereuwimert sbueTd (eTHES) . 7,500

davs 10 S0E, 0@ gamse 0.75 eus.

geop@er  Qurss  ugtiuereied  20%. @Qibs - Qupdyd
smma;asuut.@mm@ Gupumieeaiwrert sarg Corsfd 25% G
Qswey Qemdprr. 12  fear  canaflsmsseid 2 @QbS
Qupdrspstang. ' '
CupQsrearar Qeifsafldlmpa Pupdroafl Cewame srers.
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23.

@@ epeorQurmer ‘A’ wppib ‘B’ e Asdidlser Meraumwng) 16.

sngmyenr o LGLTED — paQeuramib 50 i@ umysdnE
GoDHS Hlene 2 LGWTSLD -~ @@anm@m 25 oG mrn}{&,ﬁ,]ﬁ@
é{;ﬁ&; ;_6165)61) 2 LGWrsD — geiberarpd 75 g Gurnjgg;ﬁm@
O et SjeTa] A 300 w@ser \
B : 500 sie@ser
LIS, EmeT ST A 4 g 6 aummd
B. : 2wsd 4 eunid
SAmTH919.55 :
(2A)
(<) G@PHS Hlow Seey
(@) =fls flene a{eﬂm

18.

Calculate the earnings of a worker from the followmg
information given below under

(a) Time wages system

(b)  Piece wages system -
() 'Halsey premium plan
(d) Rowan pfemium plan

Hourly rate of wages Rs.'lipe_r hour plus a dearness allowance.of
Rs.0.50 per hour worked standard time.30 hours and Actual
time taken 20 hours: y

Qeraumo  Auriisalldmps  @m  Qemfemefluler amg‘,]w:scmg,

SLpseiTL ,ﬁl.l..rma;@ﬂ@l) a;suvrasa%]@a; ‘ _ 19.

(1) a;rra)@,oa)_;p 26a5| WILD

() gian® eis eaduib

@) apreGs @pd)ﬁﬂLDLb S b
() Grmeumer @plmam.oLb S
QarHésULL L SSIDEET

@@ walsE medl .1 WHHID el Uy afl qemss
0.50 epusm. S Gprb 30 waif LD,LT)Q_ILD ﬁ@g@ Qaraor. Criyib
20 Lamfl.
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* Sérap value

Calculate the Economic Order Qua'ntity.

(a) = Consumption during the year 6.00 units.

(b) Ordering cost Rs.12 per order

(¢) Earning cost 20%

(d) ' Price per units Rs.20.

HEGHET MM ATME. SERTEE LG L.

(31) el gua;r'rm.GOO.@m)@a;ej'r.,

() &76@ aumslie s ssdow® m. 12 o Yoarss
(@) TLE SL&sb 20%

(FF) @ dlar SiLssb em. 20.

Differentiate between time rate and piece rate wage system.

P QgL e . (pep, QummBET UL | (WP@D
SpSweupern CougLiu(issis. '

Calculate Labotur Turnover ratio A

Total émployees beginning of the month,_ 2010
Recruited employees during the month . . 30
Left employed during the month ‘ 50
Total employed af the end of month 1990
Gg,rrgﬂa)rrmr‘r &pHé Aflgsams samsd([Hs. o

Qwrss Qgmplemer g .<FbLSSd 2010
Gsiray Gelwut L Qg,}rn‘.@cu_.rrmr:r @55 wrssdld -30
Aewdw Qg;r'r@o.)rrmr'rv B LT5ES D V r 50
Qs Asmemari wrs @miHuda 1990

.From.the_ following p,érticulars compute the machine hour rate.

Cost of machine R's. 11,000

Rs. 680

Repairs for the effective working life Rs. 1,50‘0
Standing changes for 4 weekly periods Rs. 40
Effective Working Life 10,000 hours

Power used 6 units per hour at 5 paise per unit.

4 hours worked in weekly period — 120 hours.:
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20.

21.

Wereumb ssaudsailalmpg by weafl dissams samsdl(Hs.
ebSrsdar SiLssb 5. 11,000
ergpélw LSl em. 680
Ermar Lienflgsme LpgLTitiy ep. 1,500
éi aury sTosdharar Hlaowrear Geweysdr . 40
uenfl smeod 10,000 wewfllser
1l eime mebr @@ wearlls@ 6 SwEGs, SwdsTaring 5 eusr aigb.
4 aumpid QaraL sragder LianfGryn — 1’20 wenfl&ar.

SECTION C — (3 % 10 = 30 marks)

Answer any THREE questions.

Discuss the steps involved in installation of cost accounting.

IL_GgeNena Senrddl wWeney SIDESG D Qumps o_giTem
ulg flevavaanarts updl elleurdlésa, .

From the following information, prepare cost sheet.

Rs.

‘Direct raw materials  1,00,000

Direct wages. 25,000
Direct expenses 5,000
- Electric power . 3,000
Lighting :
Factory 1,500
Office 500
Rent :
Factory 5,000
Office - 2,500
Salaries to salesman 1,250
Advertising - 1,250
Income tax 10,000
Sales 1,89,500
4 © 62547/CZ25A

Qeseu(mid Aurrsaflembag) S &selane Siflsansenws
swrfl&saib.

€.

Corig epaliGummHLseT - 1,00,000
Cprig Fmed ' 25,000
Cpry Gewa|ser , ' 5,000
W #54) 3,000
allendg;

Qgrr@]jj)&rrma;é@ 1,500

S ussEhS 500
UTL & :

QzmPperaass 5,000

SassHHG 2,500
edpuemanwumer(hs@ euphiflul FbLaTd 1,250
allemtbud 1,250
auLoma uifl - 10,000
eflpuenan ‘ . 1,89,500

22. Two components ‘A’ and ‘B’ are used as follows:

Normal usage — 50 units per week each
Minimum usage — 25 units per week each
Maximum usage — 75 units per week each
Reorder quantity A : 300 units

B : 500units
Reorder period A : -4to 6 weeks

B : 2to4weeks
Calculate for each components :
(a) Reorder Level
() Minimum Level
(¢ Maximum Level.
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